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PART'B ——25 x 6 =30 marks)
Answer any FIVE questions.
All questions carry equal marks.
Write an algorithm for false position method.

False position gpenmullesn algorithm-ew (g5

Dividing the range into 10 equal parts, find the

approximate value of J-sinxdx of by Simpson’s
. ! 0 ' .

rule.

Isin.xdxéin Sieneu, 10 -amuna;réjesmrra; udlibs
0
Simpson’s eflFludley sreirs.

Obtain a root of the equation correct to four
decimal . places %% -5x+3=0by Newton’s
Raphson method. ‘

goeaumliger  gGsed

o6 wosms  prae  @ess  Sopons
Newton’s Raphson— qpenpulied sremrs.
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16}/f/Célc1ilate the Mean and S.D. of the following data:
< |
'22 56 35 48 85 72 25 66 92 42

emeumid eflLTaGEnsE mean WwHmiId S.D. eoi &m6iS.
72 56 35 48 85 72 25 66 92 42

y/ Calculate correlation coefficient from the following
results: ' ’

N =10, ¥x =140, ¥y =150, X(x —10) (y - 15) = 60
>(x-10) =180 X(y-15) =215.
lﬁlérrm@Lb LELIYSEHES correlation coefficient—anu
S5(HS. '
N =10, ¥« =140, £y =150, %(x ~10) (y - 15) =60
X(x-10) =180 Ty -15) =215.
1/ ‘Explain the .various operations on Stack. -
Stackeir Q@@@Jg Qaueum_g.emar clleTéEs.
19. 'leite about Hash Tables and Hash Functions.

. Hash Tables wpgib Hash function-geer erpg1s.
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